
20W-MATH170E-1 Midterm 1
DEBORAH LIU

TOTAL POINTS

47 / 50

QUESTION 1

1 1.(a) 5 / 5

✓ - 0 pts Correct

   - 1 pts Incorrect Probability Plug-in

   - 2 pts Took incorrect complement

   - 3 pts Incorrect events for "at least one"

   - 3 pts Misusing Independence for Unions instead

of Intersections

   - 5 pts Did not attempt/ no serious progress toward

solution

   - 3 pts Did not use independence

QUESTION 2

2 1.(b) 5 / 5

✓ - 0 pts Correct

   - 0 pts Insignificant Arithmetic Error

   - 2 pts Small error in formula for "Exactly one of the

three occurs"

   - 5 pts Severely Incorrect Formula for "Exactly one

of the three occurs"

QUESTION 3

3 2.(a) 5 / 5

✓ - 0 pts Correct

   - 0 pts Correct answer assuming order matters in

hands

   - 1 pts Undercount by factor of 2

   - 3 pts Missing some Binomial coefficients

   - 2 pts Incorrect numbers in binomial coefficients

   - 5 pts Severely Incorrect approach

   - 3 pts Valid counting for an invalid notion of "hand"

QUESTION 4

4 2.(b) 2 / 5

   - 0 pts Correct

   - 2 pts Correct Answer if order matters for hands (an

easier problem)

✓ - 3 pts Overcount by factor of 6

   - 3 pts Missing some binomial coefficients

   - 5 pts Severely Incorrect Counting

   - 2 pts Does not count EXACTLY one pair

   - 2 pts Undercount by factor of 16

QUESTION 5

5 3 10 / 10

✓ - 0 pts Correct

   - 4 pts Incorrect or Missing Application of

Multiplication Rule

   - 3 pts Incorrect Use of Total Probability

   - 2 pts Failure to take Complements

   - 2 pts Incorrect Bayes Theorem

   - 1 pts Incorrect Numbers plugged in

   - 10 pts Severely Incorrect Answer

QUESTION 6

6 4.(a) 5 / 5

✓ - 0 pts Correct

   - 2 pts Incorrect formula for the variance

   - 4 pts Incomplete answer

QUESTION 7

7 4.(b) 5 / 5

✓ - 0 pts Correct

   - 2 pts Missing the value of PMF at 0

   - 4 pts Incomplete answer

QUESTION 8

8 5.(a) 5 / 5

✓ + 2 pts Know Poisson distribution

✓ + 1.5 pts Correct set-up using the assumption

✓ + 1.5 pts Correct answer



   + 0 pts Blank

QUESTION 9

9 5.(b) 5 / 5

✓ + 3 pts Know the correct mean for the # of

accidents over the course two days. (2λ = 4)

   + 3 pts Know that the # of accidents over the

course of two days is the sum of two independent

Poisson RVs, corresponding to each of two days.

✓ + 2 pts Correct answer

   + 1 pts Some efforts have been made

   + 0 pts (Essentially) Blank

Page 2


















